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I. Vocabulary and Phrases (Questions 1-10): Choose the BEST answer to complete each sentence.

1. The pandemic has  a global health emergency and brought disaster to humans.
(A) triggered (B) pacified (C) administered (D) persuaded
2. Ahospital near Taipei has initiated a study to _ the effectiveness of a third dose of a Covid-19
vaccine.
(A) reside (B) explore (C) pamper (D) grieve
3. This movie is touching on __ that would have been taboo in this country before.
(A) symptoms (B) splashes (C) patches (D) themes
4. Heavysnow _ western Germany and broke records in some areas this weekend, Kenyan News
reported.
(A) pummeled (B) duplicated (C) contracted (D) deployed
5. The first major military _ of the virus occurred on a cruise early last year.
(A) factor (B) pulse (C) outbreak (D) gourmet
6. Inmedieval times, when chivalry was prized, the virtue of  was often found to be beautifully

portrayed in the form of a knight with a sword.

(A) fortitude (B) multitude (C) platitude (D) turpitude
7. Unfortunately, students are _ about the racial prejudice on campus.
(A) compressed (B) complacent (C) complimentary (D) complementary
8. Although the  situation is usually several hours old, it is very valuable for indicating the

general weather patterns the pilot must reckon with.

(A) semantic (B) dogmatic (C) synoptic (D) syntactic
9. Istayed beside the attacker, keeping a eye on him in case he decided to try anything.
(A) dairy (B) bulky (C) wary (D) progressive

10.1 read the New York Times regularly and find the incorrect reports and information rather
annoying and
(A) retiring (B) potential (C) divine (D) irksome

I1. Grammar and Structure (Questions 11-20): Choose the BEST answer to complete each sentence.

11. If the science of a body of work is solid, it deserves publication who produced it.
(A) regardless of (B) in lieu of
(C) in place of (D) in progress of

12. There may be a new roof on this deserted land, but time is certainly not healing all wounds
of Hurricane Cabana.
(A) in the wake (B) in parallel (C) onapar (D) on behalf
13. When it comes to medical intervention for spinal cord repair, stem cells have taken .

(A) level crossing (B) tenor clef (C) center stage (D) en route
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14. This medical discovery in antibody levels and variant cross-neutralization has made the
page of the local newspaper.
(A) cautious (B) predictable (C) front (D) transparent

15. “Eat less” means consume less food, which eating smaller portions and avoiding frequent
between-meal snacks.
(A) scrubs off (B) stands against (C) puts off (D) translates into

16. Janice wrote her first song .
(A) while she worked a porter in a bookstore in New York.
(B) while working as a porter in a bookstore in New York.
(C) while worked as a porter in a bookstore in New York.

(D) while she was worked as a porter in a bookstore in New York.

17. You have broken the law; , you must be punished.
(A) amidst (B) since (C) because (D) therefore
18. Can you tell me the reason you did not turn in your assignment on time?
(A) how (B) why (C) what (D) who
19. The owner does not allow people in the house.
(A) smoke (B) smoked (C) to smoke (D) to smoking
20. I think I am an interesting person and am usually eager to learn, but I just have little idea of what
the speaker is talking about. I am totally . Can we leave now?
(A) bore (B) bored (C) boring (D) to bore

III. Cloze (Questions 21-40): Choose the BEST answer for each blank in the passages.

In real-life learning situations, knowledge is seldom 21  into different subjects. For
example, what we know about a particular river, we know it _ 22  and we don’t partition this
knowledge in our minds by subjects. In this regard, an integrated school curriculum makes our
learning more meaningful. This is not to say that organizing our teaching or learning by subjects
should not ~ 23 at all. To enrich the learning of each subject, instructors should create ample

opportunities for students to draw on the knowledge from different 24 . 25  interdisciplinary

projects, learners will have a better chance to integrate and apply the knowledge from different

domains to address various issues in their life.

26, our instructors will design and implement an interdisciplinary science program for
our students. In terms of content, this particular 6-week program will focus on falling objects and
projectile motion. This topic is essential to the study of Newtonian Mechanics as it _ 27  the
motion of all thrown or falling objects on or around our planet. It is a topic that is relevant to students’
everyday 28 . An understanding of gravitational forces is required as well as the basic concept
that a force acting in one direction will not affect an object _ 29  perpendicular to it. Other

concepts and themes to be explored include motion in a plane, forces, inertia, momentum, orbits,
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that by the end of

the program, each group of 4-5 students will be expected to design and _ 31  a machine that will

Newton’s Laws of Motion and trajectory of a projectile. Students will be _ 30

throw a basketball from the free throw line through the hoop. Some class time will be devoted to _32
students for this final project, but much work will need to be performed outside of class as well.
Students will have to research all possible problems in order to design and improve their machines.
At the end of this program, students will be able to _ 33 the scientific knowledge and skills
related to falling objects and projectile motion. 34 , students will be able to do an
interdisciplinary project, which consists of designing and constructing a machine with their team
members. It is also hoped that students are able to give a detailed explanation of how their machine
works and how they have 35  their knowledge and skills related to falling objects and projectile
motion.

(B) revoked

(D) scheduled

21.  (A) compartmentalized
(C) stabilized

22.  (A) holistically (B) conspicuously (C) persistently (D) curiously
23.  (A) delineate (B) occur (C) collapse (D) allude

24.  (A) packs (B) gestures (C) penalties (D) disciplines
25. (A) At (B) Through (C) off (D) Around

26. (A) In this vein (B) Coincidentally  (C) Rather (D) Notwithstanding
27. (A) puts off (B) fires away (C) deals with (D) veers off

28.  (A) eccentricity (B) investment (C) bliss (D) experience
29. (A) imparting (B) shining (C) trimming (D) moving

30. (A) informed (B) ridiculed (C) marked (D) distinguished
31.  (A) penetrate (B) roast (C) construct (D) sweep

32. (A) tighten (B) prepare (C) detour (D) denote

33. (A) bide (B) acquire (C) compel (D) misplace

34. (A) Practically (B) Regretfully (C) Ironically (D) Surprisingly
35. (A) endured (B) furnished (C) suggested (D) incorporated

36 his diagnosis, Mike’s wife Veronica had made a full-time job of seeking treatment

options for her husband. And as of last summer, when Mike’s doctors said they had nothing else to
offer him, Veronica knew they’d have to widen their search. She ventured 37  the world of
experimental therapies, treatments that haven’t been proven but are promising enough to be tested in

people enrolled in clinical trials.

She canvassed experts, called up cancer centers, and spent hours doing research online, _38
she learned about immunotherapy, a new approach to cancer that oncologists are calling the most
promising in decades—and probably ever. Veronica read of an ongoing Duke University trial of a
drug called pembrolizumab that is approved and used to treat melanoma and was showing early
promise against cancers in other parts of the body too. It’s the same drug that just a few months later

would send former President Jimmy Carter’s melanoma, which had spread to his brain, into remission
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seemingly overnight. In August 2015, Mike learned he’d been accepted into a trial for that same drug.

In principle, immunotherapy is simple. It’s a way to trigger the immune system’s ability to
seek out and destroy invaders. That’s how the body fights off bacteria and viruses. But it doesn’t do
that with cancer, which occurs when healthy cells _ 39 to outsmart those built-in defenses. That’s
where immunotherapy comes in. “Instead of using 40  forces, like a scalpel or radiation beams,
it takes advantage of the body’s own natural immune reaction against cancer,” says Dr. Steven
Rosenberg, an immunotherapy pioneer and chief of surgery and head of tumor immunology at the
National Cancer Institute (NCI). These strategies don’t target cancer itself but work on the body’s
ability to fight it. These therapies, administered in pill or IV form, trigger the immune system to fight

cancer cells while keeping healthy cells intact. For someone as frail as Mike, that was an especially

appealing prospect.

36. (A) Since (B) Because (C) Yet (D) When
37. (A) although (B) into (C) backwards (D) during
38. (A) how (B) why (C) whose (D) where
39. (A) loose (B) dignify (C) indent (D) mutate
40. (A) spooky (B) acoustic (C) external (D) prophetic

IV. Reading (Questions 41-50): Choose the BEST answer for each question.
Passage 1

Repeated reading is a pedagogy originally developed to improve first-language (L1) learners’
reading deficiency problems, in particular issues related to reading fluency and comprehension. In a
typical repeated reading session, students are led to attend to both the phonological and visual
information of a text by listening to the oral reading of the teacher while the students are
comprehending the text. In repeated reading of the same text, unfamiliar vocabulary or grammatical
structure is revisited in context. This listening-while-reading technique, according to the dual-
modality input theories, can significantly enhance the depth of language learning and foster elaborate
memory traces of unfamiliar language forms (such as sound and spelling). In addition, repeated
reading of the same text, according to Bill VanPatten’s input processing principle, could endow
second language (L2) learners with an optimal processing environment for language forms.
Specifically, Bill VanPatten stipulated that there exists a universal tendency for bilinguals to process
(language) input mainly for meaning. However, if L2 learners only process language input for
meaning without attending to language forms, they will never acquire any new words or novel
grammatical structures. VanPatten also noted that L2 learners may attend to unfamiliar or novel
language forms, and acquire them if and only after they understand the message(s) that the forms
encode. This sequential view of input processing account suggests that in initial reading of a text, it
is extremely difficult for L2 learners to perform any form-based processing of new vocabulary or
grammar. This suggests that any one-shot pedagogical reading teaching practice cannot effectively

serve as the fulcrum for promoting L2 acquisition; only later (in the following exposure to the same
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text) are readers’ attentional resources freed up for analyzing unfamiliar or novel language forms in
comprehensible contexts. The above account offers a possible theoretical foundation for repeated

reading.

It is important to note that repeated reading pedagogy involves rereading the same text several
times and that such a repetitive exposure may dampen learners’ motivation to attend to the language
forms. Stephan Krashen (2004), a famous linguist, proposed that optimal form-based processing of
novel vocabulary or grammar only occurs when learners are led to read several comprehensible texts
revolving around the same topic, and, ideally, texts constructed by the same author. In reading texts
of the above nature, readers are led to familiarize themselves with the writing style and expression of
a given author while accumulating the background knowledge (meaning) of the topic at focus. Thus,
in each subsequent reading, the readers’ background knowledge is enhanced; importantly, readers are
given a contextually- and conceptually-constrained context to revisit the form and usage of unfamiliar
vocabulary or grammar. Krashen coined the above approach “narrow reading”, which involves deep
reading in a given topic. Narrow reading thus diverges from repeated reading in terms of ‘the context’
in which the target vocabulary or structure is (re)visited: same passage vs. different but related

passages.

Apparently, the major and clearest advantage of narrow reading is that it is, in comparison
with repeated reading of the same text, potentially more motivating from the perspective of learners’
reading experience. Krashen even goes so far as to claim that narrow reading—the combination of
contextualized deep reading and guided phonological reading—really has a chance of leading learners
to go beyond “reading for meaning” and to further achieve “reading for learning.” Granted, whether
narrow input is unambiguously effective in all cases warrants further empirical validation. I

optimistically believe that the positive effects of the narrow reading approach can be expected.

41. What is the best title for this passage?
(A) An Introduction to the Dual-modality Input Theory
(B) A Developmental Account of L2 Phonological Development
(C) A Review of Two Reading Pedagogical Practices
(D) A Linguistic Approach to L2 Motivation Enhancement

42. Which of the following is not true about the repeated reading approach?
(A) Learners’ rereading of the same text will not have any impact on their reading interest.
(B) Reading a passage several times helps learners get a better understanding of the topic at
focus.
(C) Repeated reading provides a possible platform for L2 vocabulary learning.

(D) VanPatten’s input processing principle is one of the theoretical tenets for repeated reading.

43. The word “stipulate” in Paragraph 1 is closest in meaning to:
(A) perpetuate (B) staple (C) specify (D) manipulate
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44. Which of the following is not true about the narrow reading approach?
(A) It’s also known as the deep reading approach.
(B) It is a response to the insufficiency of the repeated reading approach.
(C) Readers may find their reading experience more motivating while performing narrow
reading.

(D) Narrow reading has been unambiguously proven for its pedagogical potency in all cases.

45. Which of the following word best describes the author’s attitude toward the narrow reading
approach?
(A) cynical (B) obsessive (C) sarcastic (D) hopeful

Passage 2

With every whiff you take as you walk by a bakery, a cloud of chemicals comes swirling up
your nose. Identifying the smell as freshly baked bread is a complicated process. But, compared to
the other senses, the sense of smell was often underappreciated. Recently, scientists studying olfaction
have shed new light on how our sense of smell works and provided compelling evidence that it’s

more sophisticated than previously thought.

In a recent survey of 7,000 young people around the world, about half of those between the
age of 16 and 30 said that they would rather lose their sense of smell than give up access to technology

like laptops or cell phones. So, what do we know about the sense of smell?

The Nose Knows

Smell begins at the back of nose, where millions of sensory neurons lie in a strip of tissue
called the olfactory epithelium. The tips of these cells contain proteins called receptors that bind odor
molecules. The receptors are like locks and the keys to open these locks are the odor molecules that

float past, explains Leslie Vosshall, a scientist who studies olfaction at Rockefeller University.

People have about 450 different types of olfactory receptors. Each receptor can be activated
by many different odor molecules, and each odor molecule can activate several different types of
receptors. However, the forces that bind receptors and odor molecules can vary greatly in strength,

so that some interactions are better ““fits” than others.

“Think of a lock that can be opened by 10 different keys. Two of the keys are a perfect fit and
open the door easily. The other eight don’t fit as well, and it takes more jiggling to get the door open,”

explains Vosshall.

The complexity of receptors and their interactions with odor molecules are what allow us to
detect a wide variety of smells. And what we think of as a single smell is actually a combination of
many odor molecules acting on a variety of receptors, creating an intricate neural code that we can

identify as the scent of a rose or freshly-cut grass.
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Odors in the Brain

This neural code begins with the nose’s sensory neurons. Once an odor molecule binds to a
receptor, it initiates an electrical signal that travels from the sensory neurons to the olfactory bulb, a

structure at the base of the forebrain that relays the signal to other brain areas for additional processing.

One of these areas is the piriform cortex, a collection of neurons located just behind the
olfactory bulb that works to identify the smell. Smell information also goes to the thalamus, a structure
that serves as a relay station for all of the sensory information coming into the brain. The thalamus
transmits some of this smell information to the orbitofrontal cortex, where it can then be integrated
with taste information. What we often attribute to the sense of taste is actually the result of this sensory

integration.

“The olfactory system is critical when we’re appreciating the foods and beverages we
consume,” says Monell Chemical Senses Center scientist Charles Wysocki. This coupling of smell

and taste explains why foods seem lackluster with a head cold.

You’ve probably experienced that a scent can also conjure up emotions and even specific
memories, like when a whiff of cologne at a department store reminds you of your favorite uncle who
wears the same scent. This happens because the thalamus sends smell information to the hippocampus

and amygdala, key brain regions involved in learning and memory.

A Better Smeller

Although scientists used to think that the human nose could identify about 10,000 different
smells, Vosshall and her colleagues have recently shown that people can identify far more scents.
Starting with 128 different odor molecules, they made random mixtures of 10, 20, and 30 odor
molecules, so many that the smell produced was unrecognizable to participants. The researchers then
presented people with three vials, two of which contained identical mixtures while the third contained

a different concoction, and asked them to pick out the smell that didn’t belong.

Predictably, the more overlap there was between two types of mixtures, the harder they were
to tell apart. After calculating how many of the mixtures the majority of people could tell apart, the
researchers were able to predict how people would fare if presented with every possible mixture that
could be created from the 128 different odor molecules. They used this data to estimate that the
average person can detect at least one trillion different smells, a far cry from the previous estimate of
10,000.

The one trillion is probably an underestimation of the true number of smells we can detect,

said Vosshall, because there are far more than 128 different types of odor molecules in the world.

No longer should humans be considered poor smellers. In fact, many recent studies have
shown that our noses can outperform our eyes and ears, which can discriminate between several

million colors and about half a million tones.
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46. Which of the following statement is true?

(A) The view that our noses may play a more important role than our ears and eyes has never
been empirically established by any research.

(B) All young people would undoubtedly prefer losing access to cellphones over losing their
sense of smell.

(C) Humans can detect different scents because we have a variety of odor receptors, through
which signals of the sensory neurons are transmitted to the base of the forebrain and then
to other parts of the brain.

(D) We can compare odor molecules to a lock, and (odor) receptors can be referred to as keys

that are used to open the lock.

47. The word “intricate” in Paragraph 6 could be best replaced by which of the following?
(A) modest (B) complex (C) uniform (D) straightforward

48. According to the passage, the experiment suggests that an average person can identify more than
smells.

(A) half a million (B) one million (C) several million (D) one trillion

49. What is the best title for this passage?
(A) Making Sense of Scents: Smell and the Brain
(B) The Controversy over the Role of the Odor Molecule
(C) We Are What We Eat

(D) A Comparison among Different Senses

50. Which of the following can be added to the end of this passage and serve as a concluding remark?
(A) Dogs have about two times as many olfactory receptors, compared to humans.
(B) Traditional medicine provides a way to develop our sense of smell.
(C) Our senses are operated by our subliminal awareness.

(D) It’s time to give our sense of smell the recognition it deserves.
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I. Vocabulary and Phrases
Questions 1-10: Choose the BESTanswer to complete each sentence.
(A) 1. The pandemic has a global health emergency and brought disaster to humans.
Bl S5lg 2akiErd p Y A AEF R LE
(A) triggered 517 - jf =

=

Fa%(-)¥ p.350

93. trigger [trigs] ()n. #&#  (2)v 3%
The shooting of a cigarette vendor triggered a riot.
(— % FrEpmt s 84e)
Patients who suffer from Post-Traumatic Stress Disorder, or PTSD, a
condition often triggered by the experience of traumatic or stressful events,
have symptoms such as having difficulty to concentrate, insomnia, worry,
confusion, heart palpitations. and depression which may last for many years
after the event. (& )
A) caused B) arrested C) blocked D) stopped

FaRE%(C)v pld

2 Japanese military personnel a lone fisherman who they said
unlawfully cast a net from the shore.
A) extended B) triggered C) permeated
D) confronted E) mitigated

(B) pacified T & > /& F & % (- )% p.239
(C) administered # 52 > L fe F 4 % (- )% p.l2
(D) persuaded #.JR F @ % (- )® p.247
(B) 2. A hospital near Taipei has initiated a study to __ the effectiveness of a third dose of a
Covid-19 vaccine.
oA IT e R R B AT RFLATEE LS Z BA T vk o
(A)reside & i F 5 %(-)¥ p.285
(B) explore ' » 4% %
Kt e
FR¥%(-)v p.l40

128. explore [tksplor]| v &%
exploration [ cksplsrefsn] n &#
explorer [tksplors] n #HB%
Many scientists try to explore the Arctic regions.
(3% % # 8 F41 B AR ML AR T)
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(C) pamper %% o 47 A
(D) grieve &% F # % (- )% p.161
(D) 3. This movie is touching on ____ that would have been taboo in this country before.
TR RN B L PRI L LA
(A) symptoms e F & % (- )% p.333
(B) splashes # - &
(C) patches #F— » pE %
(D)themes i 42 % ° B Z
(A) 4. Heavysnow __ western Germany and broke records in some areas this weekend, Kenyan
News reported.
“2HFFFARE 0T A% AR el & KenyandT B 3R ¥ o
(A) pummeled i 5 # 4+
(B) duplicated #gF %l - -
(C) contracted ik & - g
(D) deployed % %
(C)5. The first major military __ of the virus occurred on a cruise early last year.
FoXEAFGRARET 2 I E A - e
(A) factor 712 F & % (- )® p.143
(B) pulse %4 B ¢ H F
(C) outbreak "%z

:

FR%(-)¥v p.237:

T

45. outbreak [autbrek] n #i
The  of SARS has caused great inconvenience to many
families in Taiwan.
A) destiny  B)contempt  C) outbreak D) isolation

Fa¥(=)r p3l:
(D)6. An outbreak(!##) of measles(fiii/Z) in Japan has resulted in more

than 3,500 people in the southern Taiwanese harbor of Kaohsiung
being ___Adj__.

A) evacuated {5 B) mandated % L
C) notified  Hl + 52 D) quarantined [iEg « f{1--- B4R 5

(D) gourmet % & R_

(A) 6. In medieval times, when chivalry was prized, the virtue of ___ was often found to be
beautifully portrayed in the form of a knight with a sword.
Y oY FHELERARE RLPELE VAT RRE Y- A 7 H LD R R
EECE I
(A) fortitude %2 - B3
(B) multitude ¥ % » & %
(C) platitude 2 & > H A
(D) turpitude 4+ & - % §&

% (- )% p.223
$(-)® p249- 3 a%(=)v pbd

(B) 7. Unfortunately, students are about the racial prejudice on campus.
P B4 PRETREY SRR L -
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(A) compressed B0 F R % (- )% p.69
(B) complacent & X0 p & en

:

FRE(-)v p67

109. complacent [kemplésnt] adj. #%26): A#%%
[f;+ * con/plac/ent = intensifier/please/(a.)]

complacency [kemplésnsi] n A 2

(C) complimentary #4f 5 > ﬁ‘am Fa%(-)r pb7>Fa%(=)r p20
(D) complementary = #f > 4pfech F 4 % (- )® p.67
(C) 8. Although the __ situation is usually several hours old, it is very valuable for indicating
the general weather patterns the pilot must reckon with.
B AR SFRL(X F )7 % (synoptic situation) i€ ¥ S B[ pFweh o L v A PSR R
CRESE RS PR £ ik
(A) semantic % &, 7
(B) dogmatic #cif:h F 4 % (= )w p.12
(C) synoptic  #£& 10 > fy &7
(D) syntactic 7% e

(C) 9. I stayed beside the attacker, keepinga ___ eye on him in case he decided to try anything.
A E LS e pFERLLE LT 2P EH o (keepaneyeon... g F)
(A)dairy 24w 3 %(- )% p.93
(B) bulky 5~ 7 5 % (= )% p.26
Cywary Ef F¢ HF

:

FR%(=)*r p.9~10
15. Lots of employees from this well-known company go on strike today

for they are not the new pension scheme.

(A) on board with (B) endowed with
(C) wary of (D) prone to

(D) progressive i&# e F @ % (- )v p.263
(D) 10. I read the New York Times regularly and find the incorrect reports and information rather
annoyingand .
AT L e PR PR FEE AL LA £ A TS RY -
(A) retiring Biken 3¢ HZF
(B) potential e F % % (- )% p.253
(C)divine # e F 5 % (- )¥ p.114
(D) irksome 4 * FR'E £

II. Grammar and Structure
(Questions 11-20): Choose the BEST answer to complete each sentence.

(A) 11. If the science of a body of work is solid, it deserves publication who produced it.
(A) regardless of % ¢ %%
(B) in lieu of
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(C)inplaceof
(D) in progress of

s

&
A

-r
i

AT FL PRI REMEEL > TV EA, ERALIZPEHIE Tk H

1FERHEES T ARIRFL > BB IR

(A) # 3 ... (B) .. 1% (C) ...

(D) ...ie {7 ¥

(A) 12. There may be a new roof on this deserted land, but time is certainly not healing all wounds

of Hurrlcane Cabana.
(A) inthewake % # 3%
(B) in parallel
(C) on a par
(D) on behalf
ERTE

RS

l ? =

TED

She

d\{j%c'%"?‘t )?;’épf‘és’g'vﬂﬁ%g/ﬂ\” Az B ?;‘L—."ﬁ
FB_J}T;} » (e FEF'&‘%P' {-ﬂi e /pﬁCabana&& 2 5 ?—r m”ﬁ’”ﬁ %
(A) & (B) &.. %7 ©) k= (D) ~%...
(C) 13. When it comes to medical intervention for spinal cord repair, stem cells have taken
(A) level crossing (B) tenor clef (C) center stage (D) en route
i
AT FRL O FEIREERFL TFLEALS  TERINFERA > VP Lok

iFmre s EER o (take center stage=k & 5 ¢ o =3 i & B)
C) £ 5 ¢

W =xgre (B) % EER

(D) wig® (7)

(C) 14. This medical discovery in antibody levels and variant cross-neutralization has made the

__ page of the local newspaper.

(A) cautious F 3 % (- )% p.53

(B) predictable F & % (- )% p.255

(C) front ®*® H =

(D) transparent % & % (- )wv p.348 F 2 % (= )+ p.36

s :

AEYFR O TEIREBEL TV AL o TARHER FAFEFRfA R

fh R P qre & 4§ BT

(A) Flg (B) ¥ Fgiplen C) = %
(D) 15. “Eat less” means consume less food, which

frequent between-meal snacks.

(A) scrubs off

(B) stands against

(C)putsoff 7 ¢ %% %

(D) translates into & # * ;%

ERTE
AELEL R I

Bivi il DRI @A B o

(A) B2 (B) % % » & (C) t ¢

(B) 16. Janice wrote her first song
(A) while she worked a porter in a bookstore in New York.
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(B) while working as a porter in a bookstore in New York.
(C) while worked as a porter in a bookstore in New York.
(D) while she was worked as a porter in a bookstore in New York.

45
A AEH whilest 51 Henglir+ o st 5 A HE S o (A i %&@a“ﬁé ei7 5
i o i (B) - while she was working ...:z 5 — £ 4 3@ »? While working ..

2 iEdE /’a\;‘?’fﬁé" * % p.111-112 -

(D) 17. You have broken the law; , You must be punished.
(A) amidst (B) since (C) because (D) therefore
fiEdT
7“%\4- o B L GhER) (so S5 0 s AEEY B - #=E(D) -
(A) ...z ¥ (4 33@) (B) p (& #:@ » 14i 339)
(C) 715 (i 4#3) (D) Tt (&)
v EiEE > B 2 pdbo
(B) 18. Can you tell me the reason you did not turn in your assignment on time?
(A) how (B) why (C) what (D) who
i

AL FF S AR M GNP A M GRS R RS BE
MR T (A)2(B) L RF LS REB)E I fF
kA MY 2 p8 o

(C) 19. The owner does not allow people in the house.
(A) smoke (B) smoked (C) to smoke (D) to smoking
fE47 -

A3E¥ MY H zallow® = rallow+ 23 +toV... &iE(C) -
v A o A FEH 2 p90 o

(B) 20. I think I am an interesting person and am usually eager to learn, but I just have little idea of

what the speaker is talking about. | am totally . Can we leave now?
(A) bore (B) bored (C) boring (D) to bore
i

AL B ¢ H Fhore* 2 o A BN TY beds iam s oA 3 0 £ X HET(B) 2
PfEe TARIATRBG ABDL I HY ?%’&ﬂw@ﬂﬂlgﬁiﬂaﬁﬁﬁ’ﬂ
WP e Pl R T VPR AT UEEEE ?
(A) #&.. &% @G)(&‘”ﬂWﬁ’ (C) & 4 m¥Fren (D) 2 #..&r
v Ed A o A 2 p.109-110 -
II1. Cloze
(Questions 21-40): Choose theBEST answer for each blank in the passages.
In real-life learning situations, knowledge is seldom 21 into different subjects.
For example, what we know about a particular river, we know it __22  and we don’t partition
this knowledge in our minds by subjects. In this regard, an integrated school curriculum makes our
learning more meaningful. This is not to say that organizing our teaching or learning by
subjects should not __ 23  atall. To enrich the learning of each subject, instructors should create

ample opportunities for students to draw on the knowledge from different 24 . 25
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interdisciplinary projects, learners will have a better chance to integrate and apply the knowledge
from different domains to address various issues in their life.

26, our instructors will design and implement an interdisciplinary science program
for our students. In terms of content, this particular 6-week program will focus on falling objects
and projectile motion. This topic is essential to the study of Newtonian Mechanics as it __27
the motion of all thrown or falling objects on or around our planet. It is a topic that is relevant to
students’ everyday _ 28 . An understanding of gravitational forces is required as well as the
basic concept that a force acting in one direction will not affect an object __ 29  perpendicular to
it. Other concepts and themes to be explored include motion in a plane, forces, inertia, momentum,
orbits, Newton’s Laws of Motion and trajectory of a projectile. Students will be __30 _ that by the
end of the program, each group of 4-5 students will be expected to design and __31 _ a machine
that will throw a basketball from the free throw line through the hoop. Some class time will be
devoted to __32 _ students for this final project, but much work will need to be performed outside
of class as well. Students will have to research all possible problems in order to design and
improve their machines. At the end of this program, students will be able to __33 _ the scientific
knowledge and skills related to falling objects and projectile motion. __34  , students will be
able to do an interdisciplinary project, which consists of designing and constructing a machine
with their team members. It is also hoped that students are able to give a detailed explanation of
how their machine works and how they have __ 35  their knowledge and skills related to falling
objects and projectile maotion.

F_k

FRAFAE YRGS > wBROARBA LA RAD o oo APHE ER R
) IFB"T'LEUW”:I» R(]E—T—\.IFET'ZgL_—\ hé;’&-["fr"i\né\ J‘E\'Z P\?'fiﬁ "I__LL—”\]I > —
EELEOFIRGGARIRAPOEY {F AR L3I LREHP 2 B R ERNP K
AREY I REEL RO RF BAD DBV LG R RAIE S s RS2 )
(draw on)7# fe 3" SR s saﬁ%’%‘ﬁim&i TV ERF LAEPPERELL Y 7 FAR

"’f":rf";a‘ 14 ﬁ*/i‘ e A S v %é F\v '

=20
p

Bt R T o NP AR L FA RPN - BREROPEFIE c AP F PG 0 i
B 4F 2 e ¥ AR-F R &k H (falling obJect)ZL P& %418 6 (projectile motion) » & B 3 JE ¥ 2
#5 4 & (Newtonian Mechanics)s#= 3 224 £ & > F] 5 v 2L A P eni7 & + & % Fehars B
FRYest @R > v A AE A R X SSRAPR A E o H w0 R A ABLA A0
AFRBE>mei*dd FRAPE- BECLIES BTGB -KREL - B 5 FHETIRLE
IR RERP L ER A s Fea i~ 2 IR TR A o B 2 %
w2 hdArg k2w 0 & B45A g BRI aE g - R B D Iﬂi%ﬁ{(free throw line)
ZAFIRAHEFT A JARFT T AT RFEREL IR BF S 10T F &
FI* FAp L b e > B A PR E TR ’fLry F oA DR AR R frriEl PR o &
ARG ARG EFHAF oR{cE THE RER PR R FR 0 FA R
fii- BEAER O o M E e TEBR AR EZE - NP R F YT L e 2R
P Biem i (T E 0 P i @E’,)‘z B 2 Pe R0 E & Ap B il B o
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(A) 21. (A) compartmentalized # % 4 - 434

(C) stabilized #* 48 %
(A) 22. (A) holistically g ¢ % & &=
(C) persistently &3 &
(B) 23. (A) delineate # it
(C) collapse x. 2
(D) 24. (A) packs
(C) penalties =)
(B) 25. (A) At i+
(C) Off am ...
(A) 26. (A) In this vein gt fFinT™
(C) Rather = &_
(C) 27. (A) puts off 2z i&
(C) deals with gz
(D) 28. (A) eccentricity + &
(C) bliss & %
(D) 29. (A) imparting @3z > &
(C) trimming 3
(A) 30. (A) informed #t £ soen
(C) marked At {2z :h
(C) 31. (A) penetrate ;% i%
(C) construct &
(B) 32. (A) tighten ... %
(C) detour i
(B) 33. (A) bide =& iz
(C) compel 336
(A) 34. (A) Practically 5 = + &
(C) Ironically & #13
(D) 35. (A) endured 2 =
(C) suggested = %

36 his diagnosis, Mike’s wife Veronica had made a full-time job of seeking

(B) revoked A cad

(D) scheduled 43¢ 7_i7 42
(B) conspicuously & %
(D) curiously 4+ 4 &

(B) occur 4

(D) allude = =

(B) gestures % %t

(D) disciplines & & » 214t
(B) Through £:%...

(D) Around %...% [

(B) Coincidentally 73 & e
(D) Notwithstanding & &
(B) fires away 4 &f > ig # & A
(D) veers off i

(B) investment 3 F

(D) experience =

(B) shining pe#2

(D) moving # #=

(B) ridiculed At % e

(D) distinguished ## % | e
(B) roast & %

(D) sweep # 4%

(B) prepare i ...% &

(D) denote # 7+ -+ Fg T

(B) acquire &1

(D) misplace %

(B) Regretfully g+

(D) Surprisingly 4 + &% s
(B) furnished # %

(D) incorporated & &

treatment options for her husband. And as of last summer, when Mike’s doctors said they had
nothing else to offer him, Veronica knew they’d have to widen their search. She ventured __37

the world of experimental therapies, treatments that haven’t been proven but are promising enough
to be tested in people enrolled in clinical trials.

She canvassed experts, called up cancer centers, and spent hours doing research online, _ 38
she learned about immunotherapy, a new approach to cancer that oncologists are calling the
most promising in decades—and probably ever. Veronica read of an ongoing Duke University trial
of a drug called pembrolizumab that is approved and used to treat melanoma and was showing
early promise against cancers in other parts of the body too. It’s the same drug that just a few
months later would send former President Jimmy Carter’s melanoma, which had spread to his
brain, into remission seemingly overnight. In August 2015, Mike learned he’d been accepted into a
trial for that same drug.

In principle, immunotherapy is simple. It’s a way to trigger the immune system’s ability
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to seek out and destroy invaders. That’s how the body fights off bacteria and viruses. But it
doesn’t do that with cancer, which occurs when healthy cells __39  to outsmart those built-in
defenses. That’s where immunotherapy comes in. “Instead of using __40 _ forces, like a scalpel
or radiation beams, it takes advantage of the body’s own natural immune reaction against cancer,”
says Dr. Steven Rosenberg, an immunotherapy pioneer and chief of surgery and head of tumor
immunology at the National Cancer Institute (NCI). These strategies don’t target cancer itself but
work on the body’s ability to fight it. These therapies, administered in pill or IV form, trigger the
immune system to fight cancer cells while keeping healthy cells intact. For someone as frail as
Mike, that was an especially appealing prospect.
PR e v ¥ e % > Mikesh4 F Veronica® 281 iFiud 3 XA FHink > p
#F X FMikenF AR e 24 5 B iE®E 7 > Veronicatrig 8 P& F 4~ 48F o &
SPER R HRMEASRAAEY B TRNE ARET R RG F Y L FRA R &R PR
e TR e
PFALFOLL P RFESREY ©  DEFI PR AR T
% B f & (immunotherapy) > — B 8B 5 74l G2 - &7 > 4 2% 1 ﬁx”ﬁ 7}6
B Bk 0AT % o Veronicad Tl s+ § 1 & (7 - 87 pembrolizumabehE & F % 3
%%K#LL’E‘T’* kipk 2 ¢ %% (melanoma) T ¥tinf &4 H 8 M- AR <3

F.
",f
*F_
A
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%w
"S

N

Vi BEASE Y W F(send) T AR TIimmy Carter 02 FHirI # aigen2 &
%’—&7ﬁﬁﬁ%ﬁoimeAH’WM@%wéﬁﬁ%?%%ﬁﬁo

RBIY o B RRES > v E - BRI LAE ARG IWRI YR EEO 2 R
TELRMF R mFAL 3?2 o R R Dme RE P FP I LI A 2 3 R
PR 0 TRRRE LA A L ke TR AN 1§ fRY) 7 S R AR SRR 0 i
B v(REFF)I LMp Lap RARF BEHRE ) 0 Steven Rosenberg ¥ 4 o
- AR R AB LR BEY c(NCDe 0 T2 W% F i F o Bt Kk 3 £t
Fhprin L DM 25k § 80 WEFSERIN AV IE LA
g S PUR mre PF o R i e 2 X B o W ifMikeiz i B 4 pren kA > BE B R A
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(A) 36. (A) Since (B) Because (C) Yet (D) When

(A) (e i) (B) F15 (&) (C) &Gt - &) (D) %(G)
(B) 37. (A) although (B) into (C) backwards (D) during

(A) B2 75 (ih) (B) &~ (14) (C) = (&) (D) &..#p ()
(D) 38. (A) how (B) why (C) whose (D) where

(A) how(’ &) (B) why(i# &) (C) whose(# ) (D) where (% &)
(D) 39. (A) loose (B) dignify (C) indent (D) mutate

(A) =t (B) #..% % (C) & =~g& ik (D) 2%
(C) 40. (A) spooky (B) acoustic (C) external (D) prophetic

(A) £ A2 F RN (B) T F e (C) ¢k eh (D) 3= =n

IV. Reading
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(Questions 41-50): Choose the BEST answer for each question.
Passage 1

Repeated reading is a pedagogy originally developed to improve first-language (L1)
learners’ reading deficiency problems, in particular issues related to reading fluency and
comprehension. In a typical repeated reading session, students are led to attend to both the
phonological and visual information of a text by listening to the oral reading of the teacher while
the students are comprehending the text. In repeated reading of the same text, unfamiliar
vocabulary or grammatical structure is revisited in context. This listening-while-reading technique,
according to the dual modality input theories, can significantly enhance the depth of language
learning and foster elaborate memory traces of unfamiliar language forms (such as sound and
spelling). In addition, repeated reading of the same text, according to Bill VanPatten’s input
processing principle, could endow second language (L2) learners with an optimal processing
environment for language forms. Specifically, Bill VanPatten stipulated that there exists a
universal tendency for bilinguals to process (language) input mainly for meaning. However, if L2
learners only process language input for meaning without attending to language forms, they will
never acquire any new words or novel grammatical structures. VanPatten also noted that L2
learners may attend to unfamiliar or novel language forms, and acquire them if and only after they
understand the message(s) that the forms encode. This sequential view of input processing account
suggests that in initial reading of a text, it is extremely difficult for L2 learners to perform any
form-based processing of new vocabulary or grammar. This suggests that any one-shot
pedagogical reading teaching practice cannot effectively serve as the fulcrum for promoting L2
acquisition; only later (in the following exposure to the same text) are readers’ attentional resources
freed up for analyzing unfamiliar or novel language forms in comprehensible contexts. The above
account offers a possible theoretical foundation for repeated reading.

It is important to note that repeated reading pedagogy involves rereading the same text
several times and that such a repetitive exposure may dampen learners’ motivation to attend to the
language forms. Stephan Krashen (2004), a famous linguist, proposed that optimal form-based
processing of novel vocabulary or grammar only occurs when learners are led to read several
comprehensible texts revolving around the same topic, and, ideally, texts constructed by the same
author. In reading texts of the above nature, readers are led to familiarize themselves with the
writing style and expression of a given author while accumulating the background knowledge
(meaning) of the topic at focus. Thus, in each subsequent reading, the readers’ background
knowledge is enhanced; importantly, readers are given a contextually- and conceptually-
constrained context to revisit the form and usage of unfamiliar vocabulary or grammar. Krashen
coined the above approach “narrow reading”, which involves deep reading in a given topic.
Narrow reading thus diverges from repeated reading in terms of ‘the context’ in which the target
vocabulary or structure is (re)visited: same passage vs. different but related passages.

Apparently, the major and clearest advantage of narrow reading is that it is, in
comparison with repeated reading of the same text, potentially more motivating from the
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perspective of learners’ reading experience. Krashen even goes so far as to claim that narrow
reading—the combination of contextualized deep reading and guided phonological reading—
really has a chance of leading learners to go beyond “reading for meaning” and to further achieve
“reading for learning.” Granted, whether narrow input is unambiguously effective in all cases
warrants further empirical validation. I optimistically believe that the positive effects of the narrow

reading approach can be expected.

Passage 1

1 pedagogy wE 2 2 deficiency i1

3 comprehension Bl 4 session &€

5 phonological J ip 6 foster B &

7 elaborate iRadag 8 endow R

9 optimal BRI eh 10 stipulate B

11 attend to VER 12 encode S BBy

13 sequential i eh o dp een 14 one-shot - =

15 fulcrum gk, L r 16 free up Be )

17 dampen i i 18 revolove i

19 contextually- constrained R X

20 conceptually-constrained A XU

21 coin £lig 0 45id 22 diverge Ty 3

23 in terms of Feoem g 24 motivating B b4 o
25 perspective po 26 contextualize R

27 unambiguously P 28 warrant P B
29 empirical B2 D 30 validation FE 0

(C) 41. What is the best title for this passage?
(A) An Introduction to the Dual-modality Input Theory
(B) A Developmental Account of L2 Phonological Development
(C) A Review of Two Reading Pedagogical Practices
(D) A Linguistic Approach to L2 Motivation Enhancement
2 o AT A2
(A) B8 » Bhind 5
B) ¥ -FZEVFhFNFRER
(C) & MR #H i* =y
D) -BRAF-FZ5Y HEWaRET F 02

(A) 42. Which of the following is not true about the repeated reading approach?

(A) Learners’ rereading of the same text will not have any impact on their reading
interest.

(B) Reading a passage several times helps learners get a better understanding of the
topic at focus.

(C) Repeated reading provides a possible platform for L2 vocabulary learning.

(D) VanPatten’s input processing principle is one of the theoretical tenets for

repeated reading.
TR R AR TR 2
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(C) 43. The word “stipulate” in Paragraph 1 is closest in meaning to:
(A) perpetuate (B) staple (C) specify (D) manipulate
% — ¥ “stipulate”t F E & B IEIT
(A) %13 (B) 4 ... (C) #pm (D) # 5

(D) 44. Which of the following is not true about the narrow reading approach?

(A) It’s also known as the deep reading approach.

(B) It is a response to the insufficiency of the repeated reading approach.

(C) Readers may find their reading experience more motivating while performing
narrow reading.

(D) Narrow reading has been unambiguously proven for its pedagogical potency in
all cases.

Mk RERZ T RED %LE Els

(A) ve ERBEHZED Fﬁ?

(B) v A BEAEME D B2 z@mw— g

C) aNFF I RIF  FE 7w FRe PARFEHRREE Ped 4 {5 o

(D) ?5‘ RF e P e EP T Ay BRY DREFS -

(D) 45. Which of the following word best describes the author’s attitude toward the narrow reading

1, 8 o
&

ik l‘?_é,
o \ﬂ\k
o o aﬂh&

approach?

(A) cynical (B) obsessive (C) sarcastic (D) hopeful

MTRERFERETFTEHEIRFALR?

B) s (B) 2 e (©) il (D) # 23
Passage 2

With every whiff you take as you walk by a bakery, a cloud of chemicals comes swirling
up Yyour nose. Identifying the smell as freshly baked bread is a complicated process. But, compared
to the other senses, the sense of smell was often underappreciated. Recently, scientists studying
olfaction have shed new light on how our sense of smell works and provided compelling evidence
that it’s  more sophisticated than previously thought.

In a recent survey of 7,000 young people around the world, about half of those between
the age of 16 and 30 said that they would rather lose their sense of smell than give up access to
technology like laptops or cell phones. So, what do we know about the sense of smell?

The Nose Knows

Smell begins at the back of nose, where millions of sensory neurons lie in a strip of
tissue called the olfactory epithelium. The tips of these cells contain proteins called receptors that
bind odor molecules. The receptors are like locks and the keys to open these locks are the odor
molecules that float past, explains Leslie VVosshall, a scientist who studies olfaction at Rockefeller
University.

People have about 450 different types of olfactory receptors. Each receptor can be
activated by many different odor molecules, and each odor molecule can activate several different
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types of receptors. However, the forces that bind receptors and odor molecules can vary greatly in
strength, so that some interactions are better “fits” than others.

“Think of a lock that can be opened by 10 different keys. Two of the keys are a perfect fit
and open the door easily. The other eight don’t fit as well, and it takes more jiggling to get the
door open,” explains VVosshall.

The complexity of receptors and their interactions with odor molecules are what allow us
to detect a wide variety of smells. And what we think of as a single smell is actually a combination
of many odor molecules acting on a variety of receptors, creating an intricate neural code that we
can identify as the scent of a rose or freshly-cut grass.

Odors in the Brain

This neural code begins with the nose’s sensory neurons. Once an odor molecule binds to
a receptor, it initiates an electrical signal that travels from the sensory neurons to the olfactory
bulb, a structure at the base of the forebrain that relays the signal to other brain areas for additional
processing.

One of these areas is the piriform cortex, a collection of neurons located just behind
the olfactory bulb that works to identify the smell. Smell information also goes to the thalamus, a
structure that serves as a relay station for all of the sensory information coming into the brain. The
thalamus transmits some of this smell information to the orbitofrontal cortex, where it can then be
integrated with taste information. What we often attribute to the sense of taste is actually the result
of this sensory integration.

“The olfactory system is critical when we’re appreciating the foods and beverages
we consume,” says Monell Chemical Senses Center scientist Charles Wysocki. This coupling of
smell and taste explains why foods seem lackluster with a head cold.

You’ve probably experienced that a scent can also conjure up emotions and even
specific memories, like when a whiff of cologne at a department store reminds you of your
favorite uncle who wears the same scent. This happens because the thalamus sends smell
information to the hippocampus and amygdala, key brain regions involved in learning and
memory.

A Better Smeller

Although scientists used to think that the human nose could identify about 10,000
different smells, VVosshall and her colleagues have recently shown that people can identify far
more scents. Starting with 128 different odor molecules, they made random mixtures of 10, 20,
and 30 odor molecules, so many that the smell produced was unrecognizable to participants. The
researchers then presented people with three vials, two of which contained identical mixtures
while the third contained a different concoction, and asked them to pick out the smell that didn’t
belong.

Predictably, the more overlap there was between two types of mixtures, the harder they
were to tell apart. After calculating how many of the mixtures the majority of people could tell
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apart, the researchers were able to predict how people would fare if presented with every possible
mixture that could be created from the 128 different odor molecules. They used this data to
estimate that the average person can detect at least one trillion different smells, a far cry from the
previous estimate of 10,000.

The one trillion is probably an underestimation of the true number of smells we can
detect, said Vosshall, because there are far more than 128 different types of odor molecules in the
world.

No longer should humans be considered poor smellers. In fact, many recent studies
have shown that our noses can outperform our eyes and ears, which can discriminate between

several million colors and about half a million tones.

Passage 2

1 whiff —feE > —IX 2 swirl 1

3 underappreciate &fdi > NG 4 olfaction 5L 55

5 shed light on... FRREEEE. .. 6 compelling < NMERHY
7 sophisticated TEEHY > EREHY 8 neurons FHEETT

9 a strip of... — ... 10 olfactory IR HY

11 epithelium Rz 12 receptors PR

13 molecule nF 14 activate E1b

15 jiggle K7 BlE 16 intricate IEAIEREN
17 scent R 18 initiate ELE)

19 olfactory bulb MELEK 20 forebrain HES

21 relay...to... HiE. 48 22 piriform cortex FIREE
23 thalamus r 24 orbitofrontal AR R
25 integrate B2E 26 coupling &=

27 lackluster RN 28 conjure up (AR

29 cologne tHEZK 30 hippocampus SRS

31 amygdala ] 32 random PEtHY

33 vial /NFERL 34 concoction ae)

35 overlap L 36 fare HET

37 underestimation fEAd 38 outperform iz

(C) 46. Which of the following statement is true?

(A) The view that our noses may play a more important role than our ears and eyes
has never been empirically established by any research.

(B) All young people would undoubtedly prefer losing access to cellphones over
losing their sense of smell.

(C) Humans can detect different scents because we have a variety of odor receptors,
through which signals of the sensory neurons are transmitted to the base of the
forebrain and then to other parts of the brain.

(D) We can compare odor molecules to a lock, and (odor) receptors can be referred
to as keys that are used to open the lock.
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(B) 47. The word “intricate” in Paragraph 6 could be best replaced by which of the

following?

(A) modest (B) complex

(C) uniform (D) straightforward

% 2 Foerintricate” M F B AR LT P F Bk 9

(A) &> &3] (B) 4 seeh (C) - &eh (D) 47 % h
(D) 48. According to the passage, the experiment suggests that an average person can

identify more than _ smells.

(A) half amillion  (B) one million (C) several million (D) one trillion

Fph> o Fi7 - BARARIAZE_ FrRo

(A) 1+7 B) -7% ©C Ar ¥ (D) - =¥

(A) 49. What is the best title for this passage?
(A) Making Sense of Scents: Smell and the Brain
(B) The Controversy over the Role of the Odor Molecule
(C) We Are What We Eat
(D) A Comparison among Different Senses
ok EEAEE LA D
(A)2jz 5 vk @ 22 1 7 (B) Mg rha 3+ & cnd R
(C) *4rd & (D) # & F st

(D) 50. Which of the following can be added to the end of this passage and serve as a
concluding remark?
(A) Dogs have about two times as many olfactory receptors, compared to humans.
(B) Traditional medicine provides a way to develop our sense of smell.
(C) Our senses are operated by our subliminal awareness.
(D) It’s time to give our sense of smell the recognition it deserves.
r l?'%]zﬂﬁ'}tﬁ'/u__l_ S ¥ % S s 7
(A) & A agaprt > 99 B -
(B) @ % é%'#j% 7R e L= el R i el
(C) A i eng | < BR Wik o

(D) 5 i3 36 o bt I 0 i 8 e 3 o
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